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1 Numerics

1.1 Introduction

The aim of this document is to provide a brief introduction on the numerical techniques used to
turn partial differential equations (PDESs) into (a large system of, possibly nonlinear) ordinary
differential equations (ODEs), in the form of & = F(z,t). There are two motivations behind
this desire:

e the resulting ODEs can be integrated by means of standard techniques, such as e.g. Runge-
Kutta schemes, or,

e we wish to analyse the stability of the ODEs and hope to generalize the results to the
original PDE.

As an example, let us have a look at the following standard problem:
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which is the problem of the vibrating elastic beam with p mass per unit length, w(z,t) is the
deformed shape, I = [ [ 2%dy is the moment of inertia, E is the elasticity modulus and ¢(z,t)
is the load, that varies both along the beam (z) and in time (¢).

The boundary conditions, in the case of fixed ends, take the form of

d
U)(.%', t)|x:0 L= 0 and 7111(.1‘, t) =0. (2)
7 dx z=0,L

Let w denote the exact solution. Then, the R(w) error function (residual function) is
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1.2 Differentiation matrices
1.2.1 First derivatives

Let us approximate the first derivative of y(z) by centered difference scheme, that is

Yi+1 — Yi-1
yl(ﬂf)‘x:xi ~ #a (4)

where y; := y(x;) and A is the grid size. This is equivalent of placing the origin at z;, fitting a
parabola through these points and evaluating the derivative at the origin:

jr)=a+br+e? whee §(-A)=yi1, §0)=y and §A) =y, ()
whose solution is

. — i X — o
a =y, b:M and :yl-‘rl Yi + Yi 1. (6)

2A ¢ 2A2
Clearly, y'(0) = b, which is exactly (4).
At the boundaries, we’ll face the problem that the nodes xg and zy11 are missing. We coudl
use first-order approximation

y()~ B and oy (oy) ~ B (7)

Or, ee shall use the previous technique, but now the parabola fitting problem is
G(x) =a+bx +cx? where §(0) =y, H(A)=y2 és F(2A) = yo, (8)

and the coefficients are

0=y po ot dp -y o 1 -2 tys ()
b 2A 2AZ
from which Sun 4 4
)y mh= AT 10
y(0) N (10)
In a similar manner, the derivative at the right end is
3yn — dyn— _



Putting all these together, one might define a differentiation matrix, with which the deriv-
ative is approximated as y' = Dopsy and

0 -1.0 1 O
0 1 —4 3

Another popular approach is to use the Chebyshev polynomials for interpolation. These
polynomials are the solutions of the Chebyshev equation

(1 - acg) ' —zy +nly=0 (13)
and are given by
Ti(z) = cos (karccosz) —1<z<1. (14)
The first few of them are:
To(x) = cos (0) = (15)
Ti(x) = cos (arccos x)=2x (16)
Ty(z) = cos (2arccosz) = 222 — 1 and (17)
T3(z) = cos (3arccos z) = 4a> — 3z. (18)

(We have exploited that cos20 = 2cos? — 1 és cos30 = 4cos3f — 3cosf.) There is also a
recurrence formula Ty q(x) = 22T (x) — Tx—1(x). Hence, we approximate y(x) by

£~ Zaka(x), —-1<z< 1 (19)

Obviously, the weights aj must satisfy y(z;) = y;. The optimal way of using these polynomials
is on a special grid, whose nodes are the so-called Lobatto points:

:Uj:cosw— j=0,...,N, (20)

J
N )
that is, we build an equidistant grid on the upper arc of the unit circle and project the points
onto the x axis. Notice that this grid is denser around the x = +1 end points. Finally, the
differentiation matrix is:

c; (=1)i*7 L
cJ zz—:c] ? 7& J

-~ 1<i=j<N-1 2 k=0,N
R 2(1 2) — - — ’
Dcheb,i,j 2N2+x1 i=j=0 o ahol ¢y {1 1<k<N-1. (21)
_% i=j=N

Figure 1 (see the computer code on the next page) demonstrates the use of differentiation
matrices. Notice the diabolish accuracy of the Chebyshev differentiation matrix. Notice that

e 10713 is approx. the machine precision, meaning that due to the finite number represent-
ation, one cannot gain more accuracy with any other technique and that
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Figure 1: Error of the derivative of several functions by means of centred differentiation (CDS)
and Chebyshev polinomials (Cheb) as a function of grid points.



e for the 2 function, both techniques give the highest possible accuracy.

Demo on differentiation matrices

function diffmx_example
clear all, close all

f=figure(1)
tit={"sin(x)’,’x"2’,’tanh(x)’,’sin(x) *exp(x) ’};
for j=1:4
errl=[]; err2=[]; xx=[];
for Npt=4:2:20

xx=[xx,Npt];

[x1,D1]=cdsdif (Npt,1);

[y1l,dyl]l=funs(x1,j);

errl=[errl, norm(dyl-Dixy1)];

[x2,D2]=chebdif (Npt,1);
[y2,dy2]=funs(x2,3);
err2=[err2, norm(dy2-D2*y2)];

fprintf (’\n Npt=%3d, err_CDS=%5.3e, err_Cheb=J5.3e’,...
Npt,erri(end),err2(end));
end

subplot(2,2,3)

semilogy(xx,errl, ’bx-’,xx,err2,’ro-’), grid on
ylim([le-16,1]1),

title(tit{j}), legend(’CDS’,’Cheb’,’Location’,’West’)

print(f,’-dpdf’,’diffmx_example.pdf’)
end

function [y,dy]l=funs(x,i)

if i==1, y=sin(x); dy=cos(x); end

if i==2, y=x.72; dy=2*x; end

if i==3, y=tanh(x); dy=1-(tanh(x))."2; end

if i==4, y=sin(x).*exp(x); dy=cos(x).*exp(x)+sin(x).*exp(x); end
end

Centered diff. matrix

function [x, DM] = cdsdif (N, M)

x=linspace(-1,1,N)’;

dx=x(2)-x(1);

DM=zeros (N,N) ;

D(1,1)=-3; D(1,2)=4; D(1,3)=-1;
D(N,N)=3; D(N,N-1)=-4; D(N,N-2)=1;
for i=2:N-1




D(i,i-1)=-1;
D(i,i+1)=1;
end
D=D/2/dx;
DM=D"M;
end

1.2.2 Higher-order derivatives

The beauty of this approach is that, upon using differentiation matrices, it is easy to see that

e.g.
Y’ ~ D%y. (22)

1.2.3 Boundary conditions

When dealing with PDEs, great care must be devoted to boundary conditions. For example,
our motivating example used the boundary conditions

d
w(x,t)| ;o =0 and —w(x,t) =0. (23)
’ dx xz=0,L
This means that if we use centred difference scheme, we have
e y(0) =y1 =0 and y(L) = yy = 0 and
e as y/(0) = 0, we have — by virtue of (9) — 0 = y/(0) = b = —24FTW=8  which gives
4yo = y3 (as y1 = 0) and
e as y/'(L) = 0, we have — by virtue of (11) ~0=1¢/(L) =b= 3ny4ygz&1+yN_2’ which gives
dyn-1=yn-2 (as yny = 0).

It is clear if that if one uses e.g. Chebyshev differentiation matrices, the implementation of the
boundary conditions is even more complicated.

1.3 Techniques automatically satisfying BCs

We shall approximate the unknown w(z,t) function as

N
w(x¢t) ~ Zal(t)fl(x)a (24)
=0

where a;(t) are unknown time-dependent amplitudes of the shape functions f;(z). We wish to
choose the shape functions in such a way that they automatically satisfy the boundary conditions,
ie.

w(z,t)[,—o, =0 —  fi(0)=0 and fi(L)=0 foralli, (25)
and we also have
d
—w(z,t) =0 — f{(0)=0 and f/(L)=0 foralli. (26)
dx z=0,L

For example, we might choose f;(x) = cos (i%QW) — 1, which satisfies both of the above
conditions.



1.3.1 Galerkin technique

We now apply the Galerkin technique, which requires that the residual vector R(w) is perpen-
dicular to all of the basis vectors, i.e.

0= (R(w), fj(z)) forallj=1...N. (27)
This means that
0= (R(w), fj(z)) = (28)
2U) 4’U)
~(uSy ~ PIE — d(a) o)) = (29
2 a; i\ L 4 a; i
_ <Ma Ehpaile) g 0 DR ) _ ) fj(x)> _ (30)
N N )
= <u2ai<t>fi<x> ~EIY a(t) () - q<x>,fj<a:>> = (31)
=0 =0
N
= 1> as(t) (fila), fy(a) — BT Zal ) (1), @) = ta@), f) - (32)
1=0

Note that we have j = 1... N of the above equations, which can be conveniently written as

puA%ia=EIB%a+CC. (33)

With our previous choice f;(z) = cos (i%Qw) — 1 the coefficients are

L i . .
~ [ r@s@a={f, 17 (31)
L . oy
B = /0 fi(m@)fj(x)dx:{&%ﬂ 113 ii zi; and (35)
L
¢ = [ ata)sy(a)aa. (36)

(The superscript 'G’ stands for Galerkin.) The above ordinary differential equation can be easily
solved for a;(t) and the actual shape of the beam can then be reconstructed.

1.3.2 Collocation

When applying the collocation technique, instead of forcing the approximation to be optimal
over an interval (in our case, [0,L]), we force it to be accurate at pre-prescribed collocation points
xj, giving

0=R(w(t,z;)) forall j=1...N. (37)
This means that we have
N N A
0=p> a(t)filz;) — BIY ai(t) i) (x;) - alay). (38)
i=0 i=0
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This can be formally written the same way as (33) but now the coefficient matrices are
different:

AS = filzy), BG =) and €C = q(z;). (39)

There are many ways of choosing the collocation points, the simplest way is to have them
uniformly spaced. Once the mesh is set up and the above matrices are computed, one can solve
(33) and reconstruct the surface.

One solves the resulting system of ODEs by means of numerical integration, which requires
rewriting

wAia = EIBa +C

as a first-order system of ODEs. Let us introduce y; = a and y2 = a (note that both y; and
y2 are N x 1 matrices). Then, we have

<zy/;> N <€fx(t)16 IoN> (‘Z;) + <i Ao—lc> : (40)

which can be integrated by standard ODE solvers.



2 Stability of planar incompressible flows

2.1 Governing equations for Newtonian fluids

In the case 2D planar flow of a Newtonian, incompressible liquid, the continuity and momentum
equation reads

vz | vy

=0 41
ox + oy (41)
vy vy vy 10p 0%v,  0%vy
AT =z - __ = 42
ot v Ox Jrvy@y pOx V<81:2 + Oy? (42)
Ovy vy Ovy 10p O*v, 9%y,
s Ay i ] -y _--= 43
at " or Tty oy p Oy v 0x2 * oy? (43)
After introducing the stream function ¥, for which ¥, = —v, and ¥, = v,, the continuity

equation is automatically satisfied. Then we compute d,Mom, — d,Mom,, which gives

96 OV VIS

where ¢ = AV =V, +¥,,.
2.2 Governing equations for general fluids

The general form of the equation of motion is

Dv;  O0m
P Dt - aCCj

+ pGj, (45)

. . . . 0z;: 0z . . . . .
where we used Einstein’s notation, i.e. 5% = > j Er (reoccuring indices mean summitation).
J J

In the case 2D planar flow of a general, incompressible liquid, the continuity and momentum
equation reads

Ovy  Ovy
Y _9 46
oz + y (46)
v, Ovy ov, 1 Op  OTpx  OTay
i~ . = |\ 5. 4
ot v Ox +vy8y p( 03:+ Ox + 6y> (47)
Ovy Ovy ovy, 1 Op Oty  OTyy
TN pup oy = = (D T 1
ot v Ox +Uy8y p( 3y+ Ox * oy (48)
where the stress tensor is ((7,7) = (x,¥))
1 /0u; Ouy
ij = 21 (Y) Dij, Dij =5 ! g 4

and the shear rate is
2 2 2
¢:\/2D:D:\/2<%1j;> +2<%l;’) +<8”5‘+avy> (50)

As an example, let us recompute the Newtonian case:




For a power-law fluid, we have u = K+

2.3

Ope  OTwy O )
9
0

9 1 vy n % ﬁ } vy 6Uy
T M2 ox ox 2 y
0?v,  0%v, ﬁ 81}33 avy

B 5%v, n 5%v,
—H a2 Oy?

tn—1

*0 ,continuity eq.

Homework description

For the homework problems ("Linear stability of the Couette/Poiseuille flow"), please follow
the next steps:

Rewrite equation (44) assuming power-law fluid.

Find the steady-state solution. Remember that in this case, one assumes v, = Vi (y) (Vz
does not vary along x) and vy (z,y) = 0.

Decompose the flow field into v, (x,y) = Vi(y) + @(z,y) and vy(z,y) = 0 + v(x,y) and
rewrite (44).

Boundary conditions for Couette flow: vy(x,—h) = 0, vy(x, +h) = vyeu and vy(x, £h) =
0.
Boundary conditions for Poiseuille flow: v, (z,+h) = 0 and v,(z,+h) = 0 but p(z,y) =

Ap .

7 =const.

For both cases, find a suitable function series in the y direction that satisfies the boundary

conditions: '
U(z,y) =" ai(t) fily)-

i

Apply the prescribed numerical technique to obtain stability.
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